MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (N OA) www.miamidade.gov/economy
Haas Door Company
320 Sycamore Street

Wauseon, OH 43567

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted hasbeen reviewed and accepted by Miami-Dade County RER-Product Control
Section to be used in Miami-Dade County and otherareas, where allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid afterthe expiration date stated below. The Miami-Dade County Product Control Section (In
Miami-Dade County) and/orthe AHJ (in areas otherthan Miami-Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturerwill incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code, including
the High Velocity Hurricane Zone.

DESCRIPTION:

Series HT 600, 700, 800 & 2000 Insulated Steel Sectional Garage Door up to 9ft.-2in. Wide
APPROVAL DOCUMENT: Drawing No. WL-0600-0110-08-65-65M-D, titled “9’-2” HT 600, 700, 2000
& 800 Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 12/01/2014, with
revision C dated 10/12/2020, prepared by Haas Door Company, signed and sealed by John E. Scates, P.E.,
bearing the Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

L ABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s sidetrack,
bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in theapplicable building code negatively affectingthe performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection atthe job site atthe request of the Building Official.

This NOA renews and revises NOA #17-1023.09 and consists of this page 1 and evidence pages E-1, E-2
and E-3, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

é% NOA-No. 20-1104.05

Expiration Date: February 11,2026
Approval Date: January 21, 2021
Page 1


http://www.miamidade.gov/economy
RCF045
CU


Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDERPREVIOUS NOA'’s

A.

DRAWINGS “Submitted under NOA #17-0313.06”

1. Drawing No. WL-0600-0110-08-65-65-50M-D, titled “9’-2”" HT 600, 700, 2000 & 800 Steel
Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 12/01/2014, with
revision A dated 01/20/2017, prepared by Haas Door Company, signed and sealed by Thomas
D. Sullivan, P.E.

TESTS “Submitted under NOA #15-0721.09”
1. Testreportson 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Resistance Test, per TAS 202-94
along with marked-up drawings and installation diagram of 9°-2" wide x 8” height HT 600
Series Sectional Steel Garage Doors, prepared by Intertek/ATI, Test Report No. E1289.01-
550-18, dated 12/05/2014, signed and sealed by Justin P. McDonald, P.E.
2. Test report on Tensile Test per ASTM EB8, of steel sheets, prepared by Intertek/AT]I, Test
Report No. E1289.11-106-18, dated 12/12/2014, signed and sealed by Gary T. Hartman, P.E.
3. Test report on Salt Spray per ASTM B117 of coated metal steel panels, prepared by
Intertek/ATI, Test Report No. E1289.10-106-18, dated 11/24/2014, signed and sealed by Gary
T. Hartman, P.E.

CALCULATIONS “Submitted under NOA #15-0721.09”
1. Anchor calculations prepared by JB&B Engineering Consultants, LLC, dated 07/01/2015,
signed and sealed by Thomas D. Sullivan, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS “Submitted under NOA#17-0313.06”

1. Test report on Surface Burning Characteristics of the Rubitherm WP 19669 polyurethane
foam insulation per ASTM E84, prepared by QAI Laboratories, Test Reports No. RJ5251 F-1
and RJ5251F-2, both dated 01/26/2017, signed and sealed by V. Andrew Tan, P.E.

2. Testreport on Ignition Temperature of Plastics of the Rubitherm WP 19669 polyurethane
foam insulation per ASTM D1929, prepared by QAI Laboratories, Test Report No. RJ5255F-
1, dated 02/02/2017, signed and sealed by V. Andrew Tan, P.E.

[

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.05

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


Haas Door Company

F.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS “Submitted under NOA #17-0313.06”

1. Statement letter of code conformance to the 5% edition (2014) FBC issued by JB&B
Engineering Consultants, LLC, dated 02/27/2017, signed and sealed by Thomas D. Sullivan,
P.E.

2. Statement letter of no financial interest issued by JB&B Engineering Consultants, LLC, dated

02/27/2017, signed and sealed by Thomas D. Sullivan, P.E.

2. EVIDENCE SUBMITTED UNDERPREVIOUS NOA-No. 17-1023.09

A.

DRAWINGS

1. Drawing No. WL-0600-0110-08-65-65M-D, titled “9°-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
12/01/2014, with revision B dated 10/25/2017, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

TESTS
1. None.

CALCULATIONS
1. Anchor calculations, dated 10/27/2017, prepared, signed and sealed by John E. Scates,
P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 6t" Edition (2017) FBC, dated 10/25/2017,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/27/2017, issued, signed and sealed
by John E. Scates, P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.05

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. NEWEVIDENCE SUBMITTED

A.

DRAWINGS

1. Drawing No. WL-0600-0110-08-65-65M-D, titled “9’-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
12/01/2014, with revision C dated 10/20/2020, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 7t Edition (2020) FBC, dated 10/20/2020,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/20/2020, issued, signed and sealed
by John E. Scates, P.E.

[

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.05

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


1 2 3 | 4 { 5 [ 6 7 8
REVISIONS
REV. |ZONE| BY DESCRIPTION DATE
ot} Maximum Door Width 9'-2" NOTE:  Track “ " o | 86 | Shest 1 Jamb Brkts/Side changed 5 to 6
_ . . : rack configuration above _ Al Sheet 2 Added "NOTE: The flot....mount”
B End & Interrpedlate Stiles (Backers) the door opening does not affect ™ a2 | Sheet 2 Added "3" Nominalu.an Alternate.”
Top Bracket Detail L (sheet 2 of 3) the wind load rating of the door. A EEMVS Snest 2 Added 3 Alternate Bottom Brackets KERa S
Detail A (sheet 2 of 3) - See chart below for quantity | B e ETAL O
— Sy Attached with 3 mm TOG-L-LOC at 2 places. % v E Sheel 3 Added "WOOD JANB ATTACHEMENT®
A2 Sheet 3 Chonged FR Polyurethane Foom
A \ LV / \ B Dg‘g; MvS izﬁeat iﬂggm&e& 5:hr:$t values in the WOOD 0/25/17
4: i > . SINGLE STEEL END STILE C | 2 s st e o enc ey, st
s e =i T =] T 16 Ga Galvanized Steel Flag Bracket
' — — Detail M (sheet 2 of 3
Detail M (sheet 2 of 3) Detail H (sheet 2 of 3)
A
, ; A
E
: T == WE IE
Door Height ' /—Slide Lock Shown Detail G or
8 S:eoe Iﬁ::ted A i I Lock Bars Detail J (sheet 2 of 3) Jamb Bracket
=3 1 i 2
below for other Al R i e Detail F (sheet 2 of 3) |
door heights g WP 2
- =l == — K =il 1
v \ L L a2 54{ 4/ 3"
\ ~
- | [ 3 e 381" +/- 3"
IS N ol v, ] D
[ ) 225" +[- 3"
&= =l (=] == :
- \ N N V i
v @ - ‘ ! P 1 PRODUCT REVISED
L) as complying with the Florida
Building Code I
. A NOA-No. 20-1104.05
Bottom Bracket End Hinge Strut & Strut Attachment Intermediate Hinge g
Detail C (sheet 2 of 3) Detail B (sheet 2 of 3) Detail E (sheet 2 of 3) Detail D (sheet 2of3) 4 /-3 Expiration Date 02/11/2026
_—= Zealie — — " O%,, PR By
This product has been tested per TAS202-94 for static air pressure. Jamb brocket quontiies shown ore for use with grode 2 or betler soulhern pime Miami-Dade Product Control
This product has been tested per TAS201/203-94 for large missile impact and cyclic wind pressure, jombs. ' C
Supporting strustural element designs ore fo be the responsibility ot the prefessional il ‘
T ’\ggdg?lzNg(r)ngeErR!ES of record for the bullding or structure for ihe loads listed on this ara\urlg \\\\\\‘“”“/I///‘
- - [ Totat . ) Jamb ow E SC&% %,
HT _61 & 2_61 SERIES Door | o of | Fctai No. Strut Briis > Q% e EN A RN
—na o i 0. f Struts | Configuration | i S WenCERsg e o
HT _63 & 2_63 SERIES Height | ghop o | of onfiguration | gige | NOTICE: N €0 =z
HT 64 & 2_64 SERIES |HT _10 & 2_10 SERIES 6.0" 3 3 5 These drawings are O s ent S ¢ nosiT3T LW =
HT _70 & 2_70 SERIES|HT _12 & 2_12 SERIES a0 A i 5 w jtt; d;féﬂg‘; sen ons o = v = |
HT _80 & 2_80 SERIES|HT _71 & 2_71 SERIES|HT _14 & 2_14 SERIES &3 4 4 5 Ehobse' prccedurﬁ:s that v‘o);y from E * H * ;z =
HT 8t & 2_81 SERIES|HT _72 & 2_72 SERIES|HT _16 & 2_16 SERIES S y 7 5| stondard door instaliation. if =55 SWEOF 4=
HT _82 & 2_82 SERIES|HT _73 & 2_73 SERIES|HT _32 & 2_32 SERIES 5.0 ) 2 8 th?se spelcfﬂc procedures are not ”,’O&\‘ ~y ok .”’és’.g
HT 90 & 2_90 SERIES |HT _74 & 2_74 SERIES|HT _33 & 2_ 33 SERIES - SEE followed, the daor may fot 7, Qo ORVL- N QS
. — - — 70 4 4 SHEET 6 perform as designed. "’I s,o @\E \Q\
Door Width.2esign Pressures |  End Center Center Center Impact 7.3 4 Z 6 , WAL W B
oor Wi \ : . : : . . . 30F3 « Mgy
+ psf - psf Stiles Stiles Hinges Stiles Hinges Stiles Hingss |Resistant 76 4 4 6 ; )
-0 thru 711" | 65.0 -65.0 Single 2 1 YES 7.8 5 5 8
o o . i - John E Scates, F.E.
g0tz | 650 | -650 | Single 3 1 YES 79 4 2 6 2560 King Arthur Bivd. Ste 124-54
7 thue2 | 65.0 -65.0 Single / 3 1 YES 7o 5 5 6 Lewisville,” Texas 75056
80" thu 92 | 65.0 -65.0 | Single 3 1 YES 50 2 2 5 Florida P.E. # 51737 .
1:5 projuc: js ;xvo;’lcblz in dr1c1rr|od\,x/et; s;:;zse; Wl.trh thAe same PS,F and constructz?d as ShO\:\/ﬂ. N g0 5 5 6 IMPACT This product haos been evaluated for use in
PS'!E rPerguil:gd lfsor eosr:)?ngeiveﬁnsitzé y . he AHJ or Engineer of Record is responsible for determining the Moximum section height is 24 in. RESISTANT [the High Velocity Hurricane Zone (HVHZ).
Moximum door height is 16 ft, ' 9'2" HT 600, 700, 2000 & 800 STEEL SERIES
All doors, even those above the tested height, HVHZ WIND LOAD SECTIONAL DOOR
are available with jamb brackets or commercial
full angle. The quantity and dimensional DESIGN PRESSURE +65.0/-65.0 PSE A
location af the jomb brackets/track clips and 320 Sycamore | DRAWING NO.: WL-0600-0110-08-65-65M-D |REV. C
:g;nﬁlﬁzdmountmg shown above should be Wauzﬁeonéghé%(]‘l%ﬁ? DATE DRN: 12/1/14 | DRAWN BY: MV'S |REV. DATE: 10122020
193879000 MODEL(S): __ Sec Sheet3 |SHEET: 1 OF 3
1 2 3 4 f 5 6 | 7 8


RCF045
New 20-1104.05 Stamp


1 2 3 4 { 5 ‘ 6 [ 7 8
REVISIORS
REV, [ZONE| BY DESCRIPTION DATE
3 | B6 | Sheet 1 Jamb Brkis/Side changed 5 to 6
— 27 TEK SCREW | TEK SCREW TEK SCREW Al Sheet 2 Added "NOTE: Tre flat, .mount”
PUSH NUT 7/16” END HINGE 1/4" X 3/4" Hex Washer 1/4" X 3/4" Hex 1/4" X 3/4” Hex A A2 MyS Sheet 2 Added "3" Nominal..on Alternate.” 120017
See DETAIL K far ] 14 Ga Galvanized Steel Head Self Drilling (3 per Washer Head Self ¥ Washer Head Self E5.E6 Sheet 2 Added 3 Alternote Bottom Brackets F
push nut placement . d Bottom Bracket) Drilling (3 per d{ Drilling (3 per | &01] [To DETAL C.
o TEK SCREW 'd Botton Bracket) Bottom Bracket) E3 Sheet 3 Added "§OOD JAMB ATTACHEMENT"
ADJUSTABLE TOF ° 1/4” X 3/4" Hex BOTTOM BRACKET BOTTOM BRACKET BOTTOM BRACKET A2 Sheet 3 Changed FR Polyurethane Foom
P FIXTURE 12 Ga Washer Head Self @ 13 Ga Galvanized Steel 12 Ga Galvanized 12 Ga Galvanized B P32 Mvs Sheet 3 Changed same values in the WOOD ko ..\
o TEK SCREW —v O Driling (6 per Hinge) PUSH NUT 7/16" Steel Steel JAMB ATTACHMENT chart
T e 007 " » Changed the roller hub distance from 1/4”
\ : 1/47 X 3/4" Hex PUSH NUT 7/16” || - See DETAIL K for push PUSH NUT 7/16 PUSH NUT 7/16 C | C2 |MVS| TF5% i DETAL K on sheet 2 of 3. /¥ hostarad
Washer Head Selif (o) See DETAL K for push (5] nut placement See DETAIL K for See DETAIL K far
~_ Drilling (4 per 90200 nut mt P push nut placement push nut placement
Bracket) BOTTOM SEAL BOTTOM SEAL BOTTOM SEAL
- - —_— E
TEK SCREW p— 00" g TEK SCREW 3 1/2" x 47 £ STRUT
1/4" X 3/4" Hex 4 14" x 3/47 Hex 18 Ga 50 KSI Minimum ngDhE SgggKof(%;i On
1 ac |
Washer Head Self — INTERMEDIATE HINGE _ Washer Head Self Driliing Galvanized Steel T 1 Door) or LOCK BARS
Drilling (3 per Q\ 18 or 14 Ga Galvanized (2 per End & 4" ___3_1_" JAMB BRACKET DETAIL J
Bottom Brocket) Steel Intermediate Stiles) ‘ 2 12 Ga Galvanized 000%0 (see —-——) I
7 Steel
BOTTOM BRACKET TEK SCREW o ; ) 5 SLIDE LOCK or LOCK BARS
12 Ga Galvanized 1/4" X 3/4" Hex Washer S| BOLT & NUT H Engages into the vertical
Steal Head Self Drilling (4 per 5 v o 1/4-20 X 5/8"° [ track on each side of the
PUSH NUT 7/16” Hinge) Corriage Bolt & 500 door
See DETAIL K for M 1/4-20 Hex Washer TEK SCREW
h t : 1 " o
push it plcemert NOTEThe iocaton of the 5« 5 14" BRDGE PLATE I — 174 3/4" e Nosrer |
BOTTOM SEAL b > fingss s 18 Ga 50 KSi MINIMUM racxe Heod Self Driling (4 per
y the TOG~L—-LOC dimples at Galvonized Steel Slide Lock)
3 iae
ALTERNATE #3 DETAILD  the top of each section. DETAILE  Attached with 3 mm DETAILF DETAILG
TO DETA”_ C TOG~-L~LOC at 4 Corners
== 7 PRODUCT REVISED
P r } : :: ’ as complying with the Florida
ta ) e Building Code
OUTSIDE i I B
HANDLE :] . { [}j\'* l . NOA-No. 20-1104.05
) 18" Section — 17 4" 18" Section — 17 % .y 37 Expiration Date 02/11/2026
21" Section - 20 3" 21" Section - 20 3" "‘WFLJ N, ‘
24" Section — 23 3" 24" Section —~ 23 %' P w B¥ _
. | 2" Diameter Nerminal Eleven Bail Nyion Miami-Dade Product Control
Maximum [ ] . | ar Tem Boll Steef with o Minimmum
]/2” a Ig Workable Sheft Lengih Shown, C
PR
DETAILK [ ] ot r
4 DM TN 1
Ve K BAR There should be- a space 3"
Ii_n(?lg thBe Virtl}:;;;;oge of maximum 1/2” batween N |
trock on each side the roller hub and the
NG| of the door ouiside edge of the roller - 2_" -
holder which is set by the 8 3n L]
DETAIL J push et 4
_— == 1 - [
Alternote Lock Configuration m w BOLT ',‘pc . .'#is
MATERIAL: 20 GA CS Steel, MATERIAL: 18 GA CS Steel, 5/18" X 1 5/8" tag Bolt “ R, “ﬁlgﬁ\ahx'% =
G40 Min, Hot Dipped Galvonized G40+ Min. Hot Dipped Golvanized {4 per Fiog Brocket} ’/,_6“’ , f~,Q-__...-“\‘\\\
711, 300maL B\
NOTE:  Jamb Loads: +282.5 lbs./ft. / —282.5 Ibs./ft. "Man\\\\\ B
End & Intermediate Stiles (Backers)
Min. Detoil L (sheet 2 of 3) Min. BOLT & NUT
of 1” Attached with 3 mm TOG-L—-LOC at 2 places. | [ of 1" 1/4-20 x 5/8" Track Bolt John E Scates, P.E
SINGLE STEEL END STILE SINGLE STEEL END STILE & 1/4-20 Hex Washer Nut 2560 King Arthur Blvd. Ste 124—54
16 Ga Galvanized Steel 16 Ga Galvanized Steel (2 for Horizontal & 2 for FaT .
Detoil M (sheet 2 of 3) Detoil M (sheet 2 of 3) tical Trock) Lewisville, Texas 75056
verticat froc Florida P.E. # 51737
IMPACT | This product hos been evaluated for use in
VERTICAL TRACK RESISTANT |the High Velocity Hurricane Zone (HVHZ).
BOLT & WASHER 2" Nominal 13 Ga Golvanized Stee! ‘
5/16" X 1 5/8" Lag Bolt & 2 testﬁd WOOD JAMB 9'2" HT 600, 700, 2000 & 800 STEEL SERIES
0.0. x 7/16" LD. Fiat Washer 3" Nominal 13 Ga is also approved The vertical wood jamb fasteners NPT
NOTE: Jamb brocket must be in  as an alternate. may be counter sink to_provide o NOTE: Details on some views omitted HVHZ WIND LOAD SECTIONAL DOOR A
ol ohouay 1 20 (e ot Saonn o anem 5 Tor for clarity. Double end stiles and end DESIGN PRESSURE +63.0/-650 F5F
NOTE: The flat washer is not SECTION B-B attaching jambs to the structure. hardware may be required on wider or 320 Sycamore | DRAWING NO.: WL-0600-0110-08-65-65M-D |REV. C
required for angle: mount. e heavier doors. Wau:?gnﬁ()?hé%g%%a? DATE DRN: 12/1/14 |DRAWNBY: MV'S [REV. DATE: 10/1212020
scoppoe . |MODEL{S):  See Sheet 3 |SHEET: 2 OF 3
1 I 2 3 4 f 5 l 6 l 7 } 8


RCF045
New 20-1104.05 Stamp


1 2 3 4 T 5 | 6 7 8
REVISIONS
/— FASTENER TO CONTINUE REV. |Z0NE] BY DESCRIPTION DATE
30 - } PAST HEADER | B6 | Sheet 1 Jamb Brkts/Side changed 5 to 6
121‘ i::g; :$ 388 2ES:E§ o AL Sheet 2 Added "NOTE: The flat....mount”™
T[T E e o - N b sl L e
' 3" THICK ~ HT BOO SERIES ; jg Sl o DETAL o
;‘ } ! - E3 | [Sheet 3 Added "WOOD JAMB ATTACHEMENT"
!‘ A e e A2 Sheet 3 Chonged FR Polyurethane Foam
.. 2X8 GRADE 2 OR BETTER SOUTHERN D3,D4 Sheet 3 Changed some values in the WOOD
=i PINE JAMBS B [&E4 |MVSJAMa ATTACHMENT chart o/25/17
- Y ]
) SEE CHART FOR WOOD JAMB ATTACHMENT Chongeg ‘the roller hub distance from.1/4
=y C | C2 IMYSo /2" in DETAIL K on sheet 2 of 3 0/42/29
o TO BUILDING STRUCTURE. o R
o V. Y
Ol
S STRUT Delail E WOOD JAMB ATTACHMENT
s (sheet 2 of 3)
-(= . . Minimum| Minimum | Maximum ; Allowable o °
G Buildin Minim :
: Stucture | Fastener Type | Embedment 8% o0 o0er| 20 e TEESE" L L
OPENING "N A E
A Min. 2000 PSI | Tapcon 1/4" w/ " " " " HEIGHT
Concrete 1" OD washer 13 212 4 16 4434 o o
= : B MAXIMUM ON
% Southern Pine 516" Lag w/ " " M N —
;}@ (G=055) |11/8"0Dwasher| 112" | 112" 4 16" | 6O7# CENTER SPACING
) N )
= Spruce Pine Firl  5/16" Lag w/ " " N " o ©
.. TONGUE AND GROQVE JOINT, (G - 042) 1 1/8" OD washer 1172 1172 4 16 431 # A FIRST FASTENER 4"t0 6" |
4 T— ABOVE THE FLOOR
)
( V
-
NOTE: 2X6 mounted to the wall must be Southern Pine Grade 2 or better. ° °
i STRUT Detail E V
i (sheet 2 of 3) T A OPENING
i _— - D
WIDTH

26 GA MIN. EXTERIOR ODS OR
CS STEEL SKIN WITH G40 MIN.
HOT DIPPED GALVANIZED, WITH
EPOXY PRIMER & BAKED-ON
POLYESTER PAINT TOP COAT.
MIN. YIELD: 25 KSi

N

TONGUE AND GROQVE JOINT.

_n_‘!.n"!.n“!.n‘!. ’n?(?.%"!.n"!.n"‘!‘n'!.n‘!.n‘!.

STRUT Detail E
- (sheet 2 of 3)

o

| g— 26 GA MIN. INTERIOR CS

& STEEL SKIN WITH G40 MIN,

§ GALVANIZED, BAKED-ON
POLYESTER PAINT TOP COAT.

MIN. YIELD: 35 KSI

TONGUE AND GROOVE JOINT.
STRUT Detail E
(sheet 2 of 3)

(7@ ————  FIRE RATED POLYURETHANE FOAM
zc( INSULATION — RUBITHERM WP 19

SECTION A-A

=
| i
]
669
4 i e <
é S RlGlD/FLEX|BLE PVC BOTTOM SEAL.
%@/ O o0l O

]

ﬂq\n@(\ﬂg\ﬂ/ﬁ

@ d o

4 SECTIONS 5SECTIONS 6SECTIONS 7 SECTIONS
STRUT CONFIGURATION

MODEL NUMBERS

MODEL NUMBERS AVAILABLE

HT 14 & 2_14 SERIES
HT 16 & 2_16 SERIES
HT 32 & 2_32 SERIES
HT 33 & 2_33 SERIES
HT _10 & 2_10SERIES
HT 12 & 2_12 SERIES
HT 60 & 2_60 SERIES
HT 61 & 2_61SERIES
HT 63 & 2_63 SERIES
HT 64 & 2_64 SERIES
HT 70 & 2_70 SERIES
HT 71 & 2_71 SERIES
HT 72 & 2_72 SERIES
HT 73 & 2_73 SERIES
HT 74 & 2_74 SERIES
HT 80 & 2_80 SERIES
HT 81 & 2_81 SERIES
HT 82 & 2_82 SERIES
HT 90 & 2_90 SERIES

- yr ‘;‘}Q%\g‘%& ?ﬁ 4

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 20-1104.05
Expiration Date 02/11/2026

By
Miami-Dade Product Control

aiig,

e E: 8¢ Y, B
> ,‘@',.\:{cewépf‘@ %
£ No.51737

[}
L)
[
&
]
L3

Z
E

I/,

k4

% *
T, STATEOF &=
‘\‘ Al ‘f’ -
S NN
%7, SIONAL B W
Pippyan AV B

Wiy,

=g
-
cma
e
.
.
e
S,
S

P LTS

AN
2N
N

John E Scates, P.E.
2560 King Arthur Blvd. Ste 124-54
Lewisville, Texas 75056

Florida P.E. # 51737

IMPACT
RESISTANT

This praduct has been evaluated for use in
the High Velocity Hurricane Zone (HVHZ).

&y

320

ycamore

Wauseon, Ohio 43367/ pATE DRN: 12/1/14 [DRAWN BY: MVSS |REV. DATE: 10/122020

419-337-9900

® Cooyigt 2014

9'2" HT 600, 700, 2000 & 800 STEEL SERIES
HVHZ WIND LOAD SECTIONAL DOOR

DESIGN PRESSURE +65.0/-65.0 PSF A
DRAWING NO.: WL-0600-0110-08-65-65M-D |REV. C

MODEL{S):  See Sheet 3 [SHEET: 3 OF 3

7 | 8


RCF045
New 20-1104.05 Stamp


	11805 SW 26 Street, Room 208



